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QUESTION 1
An administrator is preparing to enable the vSphere with Tanzu for workload management.

Which selection must be made when automating the deployment of the NSX-T Edge Cluster using the SDDC Manager
Ul (user interface)?

A. Select the Workload Management use case

B. Select the Custom use case, and then select the large Edge Form Factor

C. Select the Workload Management use case, and the select the large Edge Form Factor
D. Select the Custom use case, and then select the small Edge Form Factor.

Correct Answer: C

QUESTION 2

A customer wishes to integrate their VMware Cloud Foundation deployment with Microsoft CA to be used for SDDC
certificate rotation. Which three requirement achieve this configuration? (Choose three.)

A. Integrate OpenSSI with Microsoft CA Server so CSRs can be generated for all appliances.
B. Configure the web server (IIS) security setting to use basic authentication.
C. Deploy a separate Microsoft ADFS server to integrate with the Microsoft CA server.

D. Ensure that the service account which is configured on the SDDC Manager has the least privilege access to the
Certificate Authority Service

E. Configure and issue a VMware Certificate template for Machine SSL and Solution User certificates on the CA server.
F. Configure the web server (lIS) security setting to use Integrated Windows Authentication.

Correct Answer: AEF

QUESTION 3

What is the maximum recommended MTU value for all non-management VLANs within VMware Cloud Foundation?
A. MTU 15000

B. MTU 15000

C. MTU 9000

D. MTU 16000

Correct Answer: C
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QUESTION 4

While assessing an environment for VMware Cloud Foundation, it was relayed that the enterprise is expanding their
global presence with multiple data centers in order to simplify their IT operations without increasing their IT staff

How can this goal be achieved?

A. SDDC Manager Cluster

B. Leverage L2 VPN

C. Centrally via 1 LCM Deployment
D. Multi-Instance Federation

Correct Answer: C

QUESTION 5

An architect designs a VMware Cloud Foundation which includes three workload domains in addition to the
management domain Each workload domain is comprised of two Clusters with 19 hosts in each. There is a requirement
to keep the NSX-T Manager instances to a minimum for ease of management.

Which NSX-T Manager VM appliance sizing option should the architect choose to support the workload domains using
the minimum number of NSX-T Manager clusters?

A. Deploy one NSX-T Manager cluster using the large VM appliance size to support all three workload domains.

B. Deploy three NSX-T Manager clusters using the medium VM appliance size and assign one NSX-T Manager cluster
per workload domain.

C. Deploy one NSX-T Manager cluster using the medium VM appliance size to support all three workload domains.

D. Deploy three NSX-T Manager clusters using the large VM appliance size and assign one NSX-T Manager cluster per
workload domain.

Correct Answer: A
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